Notacion Cientifica (G)

Convierta cada niumero de notacion cientifica a ordinaria.

1,568 x 108 = 6,32 x 103 =
1,1 x 10° = 2,172 x10* =
8,13 x 10° = 1,79 x 103 =
2,725 x10* = 4,1 x 107 =
1,5 x 10* = 9,1 x 10° =
55 % 10* = 5 % 107 —
497 x 103 = 471 x 108 =
7,7 X 107 = 9,2 x 103 =
7,9 X 103 = 1,01 x 102 =
6,06 x 103 = 84 x10* =
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Notacion Cientifica (G) Respuestas

Convierta cada niumero de notacion cientifica a ordinaria.

1,568 x 10°

1,1 x 10°

8,13 x 10°

2,725 x 10*

1,5 x 10*

5,5 x 10*

497 x 103

7,7 x 107

79 x 103

6,06 x 10°

156.800.000

1.100.000

8.130.000

27.250

15.000

55.000

4970

77.000.000

7.900

6.060

6,32 x 10°

2,172 x 10*

1,79 x 103

4,1 x 107

9,1 x 10°

5x 107

4,71 x 10°®

9,2 x 10°

1,01 x 108

8,4 x 10*

6.320

21.720

1.790

41.000.000

9.100.000

50.000.000

471.000.000

9.200

101.000.000

84.000
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